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1. Who said “When administration has

to do with the affairs of a state or

minor political institutions — it is

called Public Administration.”

(A) James Davis

(B) Frank Goodnow

(C) M. Ruthnaswamy

(D) F.A. Nigro

2. Which of the following issue is not

emphasized by the New Public

Administration Movement ?

(A) Social equity

(B) Adaptability

(C) Citizen centered

(D) Scientific method

1. tsaOgk iz'kklu jkT; fdaok dfu"B jktdh;

laLFkkP;k dkjHkkjkfo"k;h lacaf/kr vlrs

rsaOgk R;kl yksdiz'kklu vls Eg.krkr- vls

dks.k Eg.kkys \

(A) tsEl MsfOgl

(B) ›WUd xqMukso

(C) ,e- jRuLokeh

(D) ,Q-,- fuxzks

2. [kkyhyiSdh uos yksdiz'kklu pˇoˇhus dks.kR;k

iz'ukoj Hkj fnysyk ukgh \

(A) lkekftd lerk

(B) la;ksx{kerk

(C) ukxjhdsaÊhr

(D) 'kkL=h; iº~r

Public Administration
Paper II

yksdiz'kklu
iz'uif=dk II

Time Allowed : 75 Minutes] [Maximum Marks : 100

Note : This paper contains Fifty (50) multiple choice questions, each question

carrying Two (2) marks. Attempt All questions.

lwpuk % ;k iz'uif=dsr ,dw.k iÈkkl (50) cgqi;kZ;h iz'u fnysys vkgsr- izR;sd iz'ukyk nksu (2)

xq.k vkgsr- loZ iz'u lksMok-
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3. In the opinion of Kautilya

‘Arthashastra’ is :

(1) Livelihood of man

(2) Land

(3) Family budget

(4) Economics

Choose the correct code :

(A) 3 and 4

(B) 1, 3 and 4

(C) 1 and 2

(D) 1, 2, 3 and 4

4. Which of the following is not a

motivator in Herzberg’s theory of

motivation ?

(A) Salary

(B) Responsibility

(C) Work itself

(D) Achievement

5. Public choice theory has been

influenced by :

(A) Sociological theory

(B) Political theory

(C) Economic theory

(D) Administrative theory

3. dkSfVY;kP;k ers ^vFkZ'kkL=* Eg.kts %

(1) ekuoh thou

(2) Hkweh

(3) dkSVqafcd vFkZladYi

(4) vFkZ'kkL=

[kkyhy ladsrkadke/kwu (i;kZ;) ;ksX; mŸkj

fuoMk %

(A) 3 vkf.k 4

(B) 1, 3 vkf.k 4

(C) 1 vkf.k 2

(D) 1, 2, 3 vkf.k 4

4. gtZcxZP;k vfHkizsj.kk flºkarkr [kkyhyiSdh

dks.krk izsjd ?kVd ukgh \

(A) osru

(B) tckcnkjh

(C) dk;Z

(D) laiknu

5. yksd fuoM flºkar [kkyhyiSdh d'kkus izHkkohr

gksrks \

(A) lkekftd flºkar

(B) jktdh; flºkar

(C) vkfFkZd flºkar

(D) iz'kkldh; flºkar
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6. The most important means of

coordination is :

(A) Hierarchy

(B) Communication

(C) Planning

(D) Unity of command

7. Match List I with List II and select

the correct answer from the answer

code given below :

List I

(Leadership Style)

(a) Selling

(b) Telling

(c) Delegating

(d) Participating

List II

(Maturity Level)

(1) M1

(2) M2

(3) M3

(4) M4

Answer Code :

a  b  c  d

(A) 1  3  2  4

(B) 2  1  4  3

(C) 3  4  1  2

(D) 4  2  3  1

6. leUo;kps lokZr egRokps ek/;e Eg.kts %

(A) inlksiku

(B) lalwpu

(C) fu;kstu

(D) vkKsph ,drk

7. lqph ÿekad I e/khy tksMh lqph ÿekad II

e/khy ;ksX; i;kZ;k'kh tqˇowu [kkyhy
mŸkjlafgrkrwu ;ksX; mŸkj fuoMk %

lqph I

(usr`Ro 'kSyh)

(a) foÿ;

(b) mins'ku

(c) iznŸkhdj.k

(d) lgHkkxkRed

lqph II

(izxYHkrk ikrˇh)

(1) M1

(2) M2

(3) M3

(4) M4

mŸkj lafgrk %

a  b  c  d

(A) 1  3  2  4

(B) 2  1  4  3

(C) 3  4  1  2

(D) 4  2  3  1
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8. The concept of administrative and

economic man is relevant in :

(A) Leadership

(B) Supervision

(C) Decision Making

(D) Authority

9. Who described the period of late 60’s

as the “heydays of the comparative

administrative movement ?”

(A) Robert Dahl

(B) Ferrel Heady

(C) L.D. White

(D) Dwight Waldo

10. Which of the following pairs is not

correctly matched ?

(A) New Public Administration —

Dwight Waldo

(B) Development Administration —

Edward Weidner

(C) Comparative Public

Administration — F.W. Riggs

(D) Administrative Development —

Robert Dahl

8. iz'kkldh; vkf.k vkfFkZd ekuokph ladYiuk

[kkyhyiSdh dks.kR;k ?kVdk'kh izklafxd

vkgs \

(A) usr`Ro

(B) i;Zos{k.k

(C) fu.kZ; fu/kkZj.k

(D) vf/klŸkk

9. fl1960 uarjpk dkˇ gk rqyukRed iz'kklukP;k

pˇoˇhpk egRokpk dkˇ vlsyfi vls o.kZu

dks.kh dsys \

(A) jkWcVZ <kYg

(B) Qsjsy gsMh

(C) ,y-Mh- OgkbZV

(D) M~okbZV okYMks

10. [kkyhyiSdh dks.krh tksMh pqdhph vkgs \

(A) uo yksdiz'kklu µ M~okbZV okYMks

(B) fodkl iz'kklu µ ,M+oMZ foM+uj

(C) rqyukRed yksdiz'kklu µ ,Q-MCyw-

fjXt

(D) iz'kkldh; fodkl µ jkWcVZ <kYg
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11. In which country has the study of

Comparative Public Administration

gained more importance ?

(A) England

(B) America

(C) India

(D) Nigeria

12. The office of the Parliamentary

Commissioner in the U.K. was set

up on the recommendation of :

(A) Appleby Report

(B) Fulton Report

(C) Whyatt Report

(D) Haldane Report

13. The authority investigating

maladministration in Britain is

called :

(A) Ombudsman

(B) Administrative Tribunal

(C) Parliamentary Commissioner

(D) Investigation Commissioner

14. Which institution is known as the

“Fourth Branch” of the government

in U.S. ?

(A) Civil Society

(B) Press

(C) Independent Regulatory

Commission

(D) Administrative Tribunal

11. dks.kR;k ns'kkr rkSyfud yksdiz'kklukyk
vR;f/kd egRo izkIr >kys \

(A) baXyaM

(B) vesfjdk

(C) Hkkjr

(D) uk;tsfj;k

12. baXyaM ;sFkhy lalnh; vk;qDrkps dk;kZy;
[kkyhyiSdh dks.kR;k vgokykP;k f'kQkj'khoj
LFkkfir dj.;kr vkys \

(A) vkWiych vgoky

(B) QqyV.k vgoky

(C) OgkWV vgoky

(D) gkWyMsu vgoky

13. fczVue/khy dqiz'kklukps rikl dks.kR;k
vf/kdkÚ;kadMwu dsyh tkrs \

(A) vkaEC;wMLeu

(B) iz'kkldh; yokn

(C) lalnh; vk;qDr

(D) vUos"kd vk;qDr

14. vesfjdse/;s [kkyhyiSdh dks.kR;k laLFksl pkSFkh
'kk[kk EgVys tkrs \

(A) ukxjh lekt

(B) o`ŸklaLFkk

(C) Lokrá ; fu;eu vk;ksx

(D) iz'kkldh; yokn
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15. Match List I with List II and select

the correct answer from the answer

code given below :

List I

(a) Mayor Council Plan

(b) Council Manager Plan

(c) Commission Plan

(d) Special Districts

List II

(1) Concentration of executive and

legislative authority

(2) Quasi-municipal organization

(3) Popular form of city

government

(4) Legislative body of city

government

Answer Code :

a  b  c  d

(A) 3  4  1  2

(B) 1  2  3  4

(C) 3  1  4  2

(D) 4  3  2  1

15. lqph ÿekad I e/khy tksMh lqph ÿekad II

e/khy ;ksX; i;kZ;k'kh tqˇowu [kkyhy

mŸkjlafgrkrwu ;ksX; mŸkj fuoMk %

lqph I

(a) uxj v/;{k ijh"kn

(b) ifj"kn O;oLFkkid ;kstuk

(c) vk;ksx ;kstuk

(d) fo'ks"k ftYgk

lqph II

(1) dk;Zdkjh o dk;ns vf/kdkj dsaÊhr

dj.ks

(2) v/kZ&uxjh; la?kVu

(3) ukxjh iz'kklukps yksdfiz; izdkj

(4) ukxjh iz'kklukph fo/kh 'kk[kk

mŸkj lafgrk %

a  b  c  d

(A) 3  4  1  2

(B) 1  2  3  4

(C) 3  1  4  2

(D) 4  3  2  1
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16. The term ‘Social Development’ was

separated from ‘Economic

Development’ in 1950’s by :

(A) The United Nations Report

(B) American Society of Public

Administration

(C) Industrial Policy Resolution

(D) Human Development Report

17. According to Riggs the difference

between developed and developing

countries is of :

(A) Multifunctionalism

(B) Integration

(C) Fusion

(D) Differentiation

18. Change in the third world

administration is influenced by :

(A) Political priorities

(B) Technology transfer

(C) Sequencial need

(D) Resource mobilization

Take the ODD out.

16. lkekftd fodklkph laKk vkfFkZd fodklkP;k

laKsiklwu 1950*'kh e/;s dks.kR;k ek/;ekrwu

osxˇs dsys \

(A) la;qDr jk"V™ vgoky

(B) vesfjdu lk slk;Vh vkWQ ifCyd

vWMfeuhLV™s'ku

(C) vkSnÓksxhd /kksj.k Bjko

(D) ekuoh fodkl vgoky

17. fjXtP;k ers fodflr o fodluf'ky jk"V™krhy

Qjd %

(A) cgwdk;kZRedokn

(B) ,dkRerk

(C) ,dhdj.k

(D) Hksn

18. frlÚ;k txkP;k iz'kklukps ifjorZu d'kkeq š

izHkkfor gksrs (pqdhpk i;kZ; 'kks/kk) %

(A) jktdh; izk/kkU;

(B) ra=Kkukps LFkkukarj.k dj.ks

(C) vuqÿfed xjt

(D) lalk/ku teo.ks
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19. The New-Deal Policy of the U.S. was

a development policy because it :

(A) emphasized capital intensive

projects

(B) rested on planned execution

(C) was directive in nature

(D) introduced change in the

capitalist system

20. The main need of development

administration is :

(A) Adequate resource mobilization

(B) Technology transfer

(C) Limited external restriction

(D) Strong morale of personnel

21. In development administration the

emphasis is on :

(A) Administrative improvement

(B) Co-ordination of agencies

(C) Dynamics of non-officials-

officials

(D) Review of progress

19. vesfjdsps ufou csrkps /kksj.k gs fodklkps

/kksj.k gksrs- dkj.k rs /kksj.k %

(A) HkkaMoyh izdYikoj Hkj ns.kkjs gksrs

(B) fu;ksftr vaeyctko.khoj voyafcr

gksrs

(C) ekxZn'kZd Lo:ikps gksrs

(D) HkkaMoy'kkgh O;oLFksr ifjorZu ?kMowu

vk.k.kkjs gksrs

20. fodkl iz'kklukph izeq[k xjt dks.krh \

(A) iqjs'kk lalk/kukph tksM.kh dj.ks

(B) ra=Kkukps Lokf/kr dj.ks

(C) e;kZfnr ckgÓ fuc±/ku

(D) lsodkae/;s izcˇ uSfrdrk

21. fodkl iz'kklukps [kkyhyiSdh dks.kR;k

?kVdkoj Hkj vlrs \

(A) iz'kkldh; lq/kkj.kk

(B) vfHkdj.kkpk leUo;

(C) yksdizfrfu/kh vkf.k vf/kdkj ;kaP;krhy

xfreku laca/k

(D) izxrhps iqueqZY;kadu
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22. No country can escape the

restrictions of the WTO because of

its being :

(A) a world organisation

(B) integrated by globalisation

(C) influenced by dominant trading

companies

(D) advantageous to developing

trade

23. The legacy of central administration

in India was rooted in :

(A) Charter Act, 1833

(B) Pitts India Act, 1784

(C) Government of India Act, 1858

(D) Regulating Act, 1773

24. Domodar Valley Corporation is

directly audited by :

(A) Finance Ministry of India

(B) Comptroller and Auditor

General of India (CAG)

(C) Prime Ministers Office (PMO)

(D) Reserve Bank of India (RBI)

22. tkxfrd O;kikj la?kVusps fuc±/kukiklwu

dks.krsp jk"V™ Vˇw 'kdr ukgh- ;kps dkj.k

gh la?kVuk %

(A) ,d tkxfrd la?kVuk vkgs

(B) tkxfrdhdj.kk'kh ,dkfRed >kyh

vkgs

(C) izeq[k O;kikjh daiU;kauh izHkkfor >kyh

vkgs

(D) O;kikjo`ºhl Qk;ns'khj Bjrs

23. Hkkjrkrhy dsaÊh; iz'kklukps eqˇ dks.kR;k

dk;nÓkr fnlwu ;srkr \

(A) pkVZj dk;nk] 1833

(B) fiV~l bafM;k dk;nk] 1784

(C) Hkkjrh; 'kklu dk;nk] 1858

(D) jsX;qysVhax dk;nk] 1773

24. nkeksnj [kksjs fuxekps izR;{k ys[kkijh{k.k

dks.kkdMwu dsys tkrs \

(A) Hkkjrkps foŸkh; ea=ky;

(B) Hkkjrkps eq[; ys[kkiky

(C) iariz/kku dk;kZy;

(D) Hkkjrkph fj>oZ c°d
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25. daiuh Lo:ikph mnÓkstdrsl dks.kh ikBhack

fnyk \

(A) ,-Mh- xksjokyk

(B) œ".k esuu

(C) ljdkjh;k

(D) v'kksd pank

26. Hkkjrh; 'kklukps izeq[k leUo; dj.kkjs

vfHkdj.k dks.krs \

(A) dSfcusV lfpoky;

(B) lalnh; lfpoky;

(C) iariz/kkukaps dk;kZy;

(D) jk"V™h; fodkl ifj"kn

27. Hk kjrh; jkT;?kVu srhy dk s. kr s  dye

vYila[;kdkaP;k gDdk'kh lacaf/kr vkgs \

(A) 21

(B) 23

(C) 25

(D) 29

25. Who of the following supported the

company form of enterprises ?

(A) A.D. Gorwala

(B) Krishna Menon

(C) Sarkariya

(D) Ashok Chanda

26. Which is the chief coordinating

agency of the government of

India ?

(A) Cabinet Secretariat

(B) Parliamentary Secretariat

(C) Prime Ministers’ Office (PMO)

(D) National Development Council

27. Which Article of the Indian

Constitution is related with

Minorities rights ?

(A) 21

(B) 23

(C) 25

(D) 29
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28. Match List I with List II and select

the correct answer from the answer

code given below :

List I

(a) Lal Bahadur Shastri National

Academy of Administration

(b) Indian Institute of Public

Administration

(c) Administrative Staff College of

India

(d) Training Division of

Government of India

List II

(1) Management Oriented In-

service Training in Public

Administration

(2) Inter-sectoral Interaction

Programmes

(3) Foundation Courses for top

echelons of public services

(4) Training Co-ordinator for

Central Ministries and State

Governments

Answer Code :

a  b  c  d

(A) 1  2  3  4

(B) 2  3  4  1

(C) 3  1  2  4

(D) 4  3  2  1

28. lqph ÿekad I e/khy tksMh lqph ÿekad II

e/khy ;ksX; i;kZ;k'kh tqˇowu [kkyhy

mŸkjlafgrkrwu ;ksX; mŸkj fuoMk %

lqph I

(a) yky cgknwj'kkL=h jk"V™h; iz'kklu

laLFkk

(b) Hkkjrh; yksdiz'kklu laLFkk

(c) Hk kjrh; i z'k kldh; i z f'k{k.k

egkfonÓky;

(d) Hkkjrh; iz'kkldh; izf'k{k.k foHkkx

lqph II

(1) yksdiz'kklukrhy O;oLFkkiukfHkeq[k

lsokvarxZr izf'k{k.k

(2) varj'kk[kh;&vkarjfÿ;k dk;Zÿe

(3) lko Ztfud lso srhy ofj"Boxh Z;

vf/kdkÚ;kaps ewyHkwr vH;klÿe

(4) dsaÊh; ea=ky; vkf.k jkT;'kklukP;k

leUo;dkaps izf'k{k.k

mŸkj lafgrk %

a  b  c  d

(A) 1  2  3  4

(B) 2  3  4  1

(C) 3  1  2  4

(D) 4  3  2  1
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29. Match List I with List II and select

the correct answer from the answer

code given below :

List I

(a) Finance Commission

(b) Comptroller and Auditor

General

(c) Commission for SC/ST

(d) Central Administrative

Tribunal

List II

(1) Plural body

(2) Created by Act of Parliament

(3) Under Central Govt.

(4) Common to Centre and States

Answer Code :

a  b  c  d

(A) 4  3  1  2

(B) 4  3  2  1

(C) 2  4  3  1

(D) 1  2  3  4

29. lqph ÿekad I e/khy tksMh lqph ÿekad II

e/khy ;ksX; i;kZ;k'kh tqˇowu [kkyhy

mŸkjlafgrkrwu ;ksX; mŸkj fuoMk %

lqph I

(a) foŸk vk;ksx

(b) fu;a=d o egkys[kk ijh{kd

(c) vuqlwphr tkrh tekrhpk vk;ksx

(d) dsaÊh; iz'kkldh; yokn

lqph II

(1) cgwy laLFkk

(2) lalnh; dk;nÓkrwu fufeZrh

(3) dsaÊh; 'kklukP;k vkf/kiR;kr

(4) dsaÊ vkf.k jkT;kl leku

mŸkj lafgrk %

a  b  c  d

(A) 4  3  1  2

(B) 4  3  2  1

(C) 2  4  3  1

(D) 1  2  3  4

http://www.studentbounty.com/
http://studentbounty.com/


13 [P.T.O.

AUG - 21211/II

30. The Department of public enterprise

was setup in :

(A) 1985

(B) 1976

(C) 1973

(D) 1968

31. The judicial control over

administrative acts has its roots

in :

(A) Parliamentary Procedures

(B) Parliamentary Practices

(C) The Rule of Law

(D) Government conveniences

32. Assertion (A) and Reason (R)

Answer the following question by

using the code given below :

(A) Both (A) and (R) are true and

(R) is the correct explanation of

(A)

(B) Both (A) and (R) are true but

(R) is not the correct

explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Assertion (A) :

Max Weber tried to make

administration efficient by research

on bureaucracy.

Reason (R) :

Operation research makes civil

servant efficient.

30. lkoZtfud mnÓksxkP;k foHkkxkph LFkkiuk
dks.kR;k lkyh >kyh \

(A) 1985

(B) 1976

(C) 1973

(D) 1968

31. i z'k kldh; dk;nÓkojhy U;k;ky;hu
fu;a=.kkpk L=ksrkph [kkyhyiSdh dks.kR;k
izfÿ;srwu iklwu lqjokr gksrs \

(A) lalnh; dk;Ziºrh

(B) lalnh; œrh

(C) dk;nÓkps vf/kjkT;

(D) 'kkldh; lks;hlqfo/kk

32. fo/kku (A) o dkj.k (R)

[kkyhy lafgrspk okij d:u [kkyhy iz'ukps
mŸkj fygk %

(A) nksUgh (A) o (R) cjkscj vkgs o (R)

gs (A) ps ;ksX; Li"Vhdj.k vkgs

(B) nksUgh (A) o (R) cjkscj vkgs ijarq (R)

gs (A) ps ;ksX; Li"Vhdj.k ukgh

(C) (A) gs cjkscj vkgs ijarq (R) gs pwd
vkgs

(D) (A) gs pwd vkgs ijarq (R) gs cjkscj
vkgs

fo/kku (A) %

eWDl oscj ;kauh uksdj'kkgh la'kks/kukP;k
ek/;ekrwu iz'kklu dk;Z{ke dj.;kpk iz;Ru
dsyk-

dkj.k (R) %

œrh'khy la'kks/ku ukxjh lsodkauk dk;Z{ke
cuors-
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33. Participative planning in India

suffers from :

(A) Adequate flow of information

(B) Verified local data

(C) Capabilities of people

(D) Supportive administration

34. State Finance Commission make

recommendations to :

(A) Cabinet

(B) Chief Secretary

(C) Governor

(D) State Legislature

35. Usefulness of a Hypothesis depends

upon :

(A) Sharp observation

(B) Creative Thinking

(C) Ethnocentricism

(D) Non-associationality

33. Hkkjrkrhy lgHkkxkRed fu;kstu d'kkiklwu

misf{kr vkgs \

(A) iqjs'kk ekfgrhpk izokg

(B) iMrkˇ.kh dsysyh LFkkfud ekfgrh

(C) yksdkaph {kerk

(D) ikfBackRed iz'kklu

34. jkT; foŸk vk;ksx dks.kkl f'kQkj'kh djrs \

(A) dWfcusV

(B) eq[; lfpo

(C) jkT;iky

(D) jkT; fo/kheaMˇ

35. x`fgrdkaph mi;ksfxrk [kkyhyiSdh d'kkoj

voyacwu vlrs \

(A) fr{.k fufj{k.k

(B) fparu

(C) ekuotkrhdsafÊr

(D) xSj&la?kVukRed
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36. Research design starts with :

(A) Review of literature

(B) Statement of a problem

(C) Objectives of the study

(D) Framing Hypothesis

37. What is not formulated in a form of

question ?

(A) Objectives

(B) Hypothesis

(C) Research design

(D) Conclusion

38. The principal model of provision and

management of social welfare in

India is :

(A) Residual model

(B) Famillial model

(C) Mixed model

(D) Liberal model

36. la'kks/ku vkjk[kMÓkph lqjokr [kkyhyiSdh

d'kk lkscr gksrs \

(A) lkfgR;kpk vk<kok

(B) leL;k fo/kku

(C) v/;;ukph mfÌ"VÓs

(D) x`fgrdkaph cka/k.kh

37. [kkyhyiSdh dks.kR;k ?kVdkaph iz'ukP;k

Lo:ikr cka/k.kh dsyh tkr ukgh \

(A) mfÌ"VÓs

(B) x`fgrds

(C) la'kks/ku vkjk[kMk

(D) fu"d"kZ

38. Hkkjrkrhy lektdY;k.kkpk mica/k vkf.k

izcU/kkpk izew[k izk:i vkgs-

(A) 'ks"kkRed izk:i

(B) dqVqace; izk:i

(C) feJ izk:i

(D) mnkje; izk:i
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39. In India the position of the Cabinet

Secretariat has weakened because

of :

(A) Decentralised Decision making

(B) Hiring of External Specialised

Agencies

(C) Rise of PMO

(D) New Managerialism

40. Ministry of Social Justice and

Empowerment primarily provides :

(A) Financial Assistance

(B) Grants in Aid

(C) Training in Social Welfare

(D) Administrative Infrastructure

41. The largest public sector in India

is :

(A) Coal

(B) Power

(C) Railways

(D) Telecommunication

39. Hkkjrke/;s dWfcusV lfpoky;kpk nqcZy

gks.;kps dkj.k %

(A) fodsafÊœr fu.kZ; fufeZrh

(B) ckgÓ fo'ks"k vfHkdj.k HkkMs rRokoj

?ks.ks

(C) ih-,e-vks- pk mn;

(D) uo O;oLFkkidokn

40. lkekftd U;k; vkf.k l{kehdj.k ea=ky;

izkFkfedrsus dk; iqjors \

(A) foŸkh; lgk∏;

(B) vuqnku lgk∏;

(C) lkekftd dY;k.kkps izf'k{k.k

(D) iz'kkldh; varlqZfo/kk

41. Hkkjrkrhy lokZr ek sB s lkoZtfud {k s=

dks.krs \

(A) dksˇlk

(B) mtkZ

(C) jsYos

(D) nwjlapkj
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42. The financial accountability of Public

Enterprises is in matters of :

(1) Self-financing

(2) Capital Expansion Plans

(3) Delegation of Powers

(4) Internal Audit

Select the correct answer from the

codes given below :

(A) 1, 2 and 4

(B) 2, 3 and 4

(C) 1, 2 and 3

(D) 1, 2, 3 and 4

43. Immediate advantage of

Privatisation is :

(A) More Productivity

(B) Optimal Resource Use

(C) Bureaucratic Decontrol

(D) Rapid Industrialisation

42. lkoZtfud m|kstdrsps fofŸk; mŸkjnk;hRo

dks.kR;k fo"k;k'kh lacaf/kr vkgs \

(1) Lo;a foŸk iqjoBk

(2) HkkaMoy foLrkj ;kstuk

(3) vf/kdkjkps iznŸkhdj.k

(4) varxZr ys[kkijh{k.k

[kkyhy ladsrkae/kwu ;ksX; mŸkj fuoMk %

(A) 1, 2 vkf.k 4

(B) 2, 3 vkf.k 4

(C) 1, 2 vkf.k 3

(D) 1, 2, 3 vkf.k 4

43. [kktxhdj.kkpk Rofjr Qk;nk [kkyhyiSdh

dks.krk vkgs \

(A) vf/kd mRikndrk

(B) tj vf/kdre ikjhfLFkfrlkis{k lalk/ku

mi;ksx

(C) uksdj'kkgh fufuZ;a=.k

(D) 'kh?kz vkS|ksfxdj.k
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44. The National Commission for

Women was set up as a statutory

body in :

(A) January 1990

(B) January 1991

(C) January 1992

(D) January 1993

45. Balwant Rai Mehta Committee, was

a committee on :

(A) Democratic decentralization

(B) Panchayat Raj Institution

(C) Rural development

(D) Community development

programme

44. jk"V ™ h; efgyk vk;k sxkph o S/ k k fud

la?kVuk Eg.k wu dks.kR;k lkyh LFkkiuk

>kyh \

(A) tkusokjh 1990

(B) tkusokjh 1991

(C) tkusokjh 1992

(D) tkusokjh 1993

45. cyoarjk; esgrk lferh [kkyhyiSdh dks.kR;k

lferh'kh lacaf/kr gksrh \

(A) yksd'kkgh fodsafÊdj.k

(B) iapk;r jkt laLFkk

(C) xzkeh.k fodkl

(D) lkeqnkf;d fodkl dk;Zÿe
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46. Participation of political parties in

local elections in India was

recommended by :

(A) Asoka Mehta Committee

(B) Balwant Rai Mehta Committee

(C) Singhavi Committee

(D) G.V.K. Rao Committee

47. Social Audit is conducted by :

(A) Social Workers

(B) Registrar of Cooperatives

(C) Standing Committee of Zila

Parishad

(D) Stakeholders in open

46. LFkkfud fuoM.kqdhrhy jktdh; i{kkaP;k

lgHkkxkph f'kQkjl [kkyhyiSdh dks.kR;k

lferhus dsyh \

(A) v'kksd esgrk lferh

(B) cyoarjk; esgrk lferh

(C) fla?koh lferh

(D) th-Ogh-ds- jko lferh

47. lkekftd ys[kkifj{k.kkps lapkyu dks.k

djrkr \

(A) lkekftd dk;ZdrsZ

(B) lgdkjkrhy lfpo

(C) ftYgk ifj"knsph LFkk;h lferh

(D) ykHkkFkhZdMwu eqDriºrhus
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48. The first state in India which gave

fifty percent reservation to women

in Panchayati Raj is :

(A) Maharashtra

(B) Rajasthan

(C) Bihar

(D) Madhya Pradesh

49. Panchayat Extension to the

Scheduled Area Act, 1996 (PESA

1996) focuses on the development

of :

(A) Scheduled Castes

(B) Scheduled Tribes

(C) Other Backward Classes

(D) Below Poverty Line

50. Corruption can be effectively

checked through :

(A) Auditor General

(B) Public Awareness

(C) Local Fund Audit Department

(D) Social Audit Department

48. Hkkjrkrhy dks.kR;k jkT;kr iapk;r jkt

O;oLFksr efgykalkBh 50 VDds vkj{k.kkph

rjrwn dj.;kr vkyh \

(A) egkjk"V™

(B) jktLFkku

(C) fcgkj

(D) e/; izns'k

49. iapk;r foLrkjkpk vuqlqfpr {ks= dk;nk

(1996) [kkyhyiSdh dks.kR;k ?kVdkP;k

fodklkoj Hkj nsrs \

(A) vuqlqfpr tkrh

(B) vuqlqfpr tutkrh

(C) brj ekxkl oxZ

(D) nkfjÊÓ js"ks [kkyhy

50. Hk z"Vkpkj izHkkohi.k s jk s[k.;kps ek/;e

dks.krs \

(A) izeq[k ys[kkiky

(B) lkoZtuhd tk.khosph fufeZrh

(C) LFkkfud fu/kh ys[kkijh{k.k foHkkx

(D) lkekftd ys[kkijh{k.k foHkkx
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